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	Section
	Marks

	A
	20

	B
	10

	C
	25

	D
	45

	Total
	100


Student equipment required:

· Non-programmable calculator

· Pens, pencils, erasers
· Rule
Do not mark this question paper in any way.

Section A – 20 marks

For each question, mark the correct answer in the space provide on your answer sheet.

1. The electrical diagram in Fig. 1 is a/an:

(A) circuit diagram

(B) wiring diagram

(C) block diagram

(D) single line diagram

2. The electrical diagram in Fig. 2 is a/an: 

(A)  circuit diagram

(B) wiring diagram

(C) block diagram

(D) single line diagram

3. A drawing is done to a scale of 100:1. The on the job length of cable run, measured at 125.5mm on the drawing, would be:

(A) 125.5 metres

(B) 12.55 metres

(C) 1255 metres

(D) 1.255 metres

4. The term ‘fit out’ refers to

(A) running the cable on the job

(B) fitting cable brackets to the house frame

(C) tying the cable to house frame

(D) terminating and securing electrical equipment

5. The best type of electrical diagram to use when fault finding electrical equipment is a/an:

(A) circuit diagram

(B) wiring diagram

(C) block diagram

(D) architectural diagram

6. The number of intermediate switches required for 3 way switching is/are:

(A) 0

(B) 1

(C) 2

(D) 3

7. A site plan shows:

(A) the height of one elevation

(B) the excavations required for the site

(C) the position of the dwelling on the block

(D) the position of the electrical supply on the block

8. A floor plan shows:

(A) the room layout of the building

(B) the footing layout

(C) the location of piers

(D) details of the steel reinforcing for the slab

9. When developing a wiring diagram for a lighting circuit that contains an unknown type of switch, you should first develop a/an:

(A) block diagram

(B) switching chart for the switch

(C) circuit diagram

(D) electrical schedule

10. The components in a circuit diagram should be represented using:

(A) drawings of actual components

(B) numbering system

(C) standard symbols

(D) block diagrams

11. Brick cavity construction is;

(A) timber frame with an internal and external timber cladding

(B) single exterior brick cladding with a space to an interior brick cladding

(C) single exterior brick cladding with a metal or timber frame and plaster board interior cladding

(D) single interior brick wall

12. Looping at the light method of wiring an installation means:

(A) the earth and neutral wires are wired to the switch

(B) the earth and neutral wires are wired to the light

(C) the earth, active and neutral are wired to the switch

(D) the earth, active and neutral are wired to the light

13. Looping at the switch method of wiring an installation means:

(A) the earth and neutral wires are wired to the switch

(B) the earth and neutral wires are wired to the light

(C) the earth, active and neutral are wired to the switch

(d) the earth, active and neutral are wired to the light

14. What determines the wiring method of an installation?

(A) The type of cable used.

(B) The Inspector of the local Electrical Authority

(C) The type of building construction and material used

(D) Minimise both cable required and installation time.

15. When carrying out an insulation resistance test on a lighting installation, which of the following in NOT correct:

(A) Isolate the power

(B) Disconnect the neutral at the neutral link

(C) Ensure 60 Watt lamps are fitted to all batten holders

(D) Do not test between active and neutral if electronic dimmers are used.

16. When carrying out an insulation resistance test on a lighting installation, which of the following value is used:

(A) 240V AC

(B) 500V AC

(C) 500V DC

(D) 1000V DC

17. What cables are fitted in the loop terminal of the batten holder using looping at the light method of wiring?

(A) Neutral

(B) Earth

(C) Switch Wire

(D) Active

18. How are earth connections made at the switch in looping at the switch method of wiring?

(A) Two screw tunnel connector

(B) One screw tunnel connector

(C) Twisted together

(D) In the loop terminal

19. What sequence in a building construction are the light fittings and swiches fitted?

(A) After the interior lining has been fitted

(B) After the wall tiling is completed

(C) After painting

(D) After the external cladding and before the internal cladding

20. What size cable is the separate earth which is run from the switch to the batten holder in looping at the switch method of wiring?

(A) 0.75mm2
(B) 1.5mm2
(C) 1.0mm2
(D) 2.5mm2
Section B  - 10 marks

Write the answer to each question in the space provided on the answer sheet.

Do not mark the question paper.

1. Explain why the ‘point of entry’ is not shown on the floor plan of a domestic              installation.

2. List two parts of an electrical installation that may have their location (or route) determined from a site plan.

3. Draw the architectural symbol for a two way switch

4. What are the two main plans an electrician requires for house construction.

5. A relay is to be replaced on a control panel, what type of diagram would an electrician use?

6. What instruments/tools does an electrician use when isolating a circuit?

7. When are light switches connected in parallel?

8. What purpose does the wall cavity serve in a double brick wall?

9. What scale is normally used on architectural drawings for floor plans?

10. Name 3 items of test equipment for testing switch continuity.

Section C – 25 marks

1. A sample switch will be provided and all the following questions relate to the supplied switch. 

(A) Draw a switching chart for the sample switch supplied. (2 marks)

(B) From the results entered in the switch chart draw the correct switch symbol and number all terminals (2 marks)

(C) From the symbol drawn in question 2 name the type of switch ( 1 mark)

2. (A) Draw a circuit diagram for two way switching controlling two lights.

 (2 marks)

(B) Convert the diagram from question 2A to a wiring diagram. (3 marks)

3. Draw a section of floor plan and show the method used to indicate that a single lighting point is controlled by three switches. (use architectural symbols)

· 5 marks

4. Draw the achitectural symbols for the following: (5 marks)

(A) 15A plug socket

(B) exhaust fan

(C) heater

(D) luminaire fixed to wall

(E) intermediate switch

5. Listed below are five tradespeople an electrician may work with on a building site. Give 1 reason why the electrician may need the cooperation of each of them – 5 marks

(A) bricklayer

(B) plumber

(C) plasterer

(D) concreter

(E) shopfitter (cabinetmaker)

Section D – 45 marks

Install and connect a lighting circuit according to the following:

· lighting point 1 is controlled by switch 1

· lighting point 2 is controlled by switch 2

· lighting point 3 is controlled by switch 3

· the circuit is supplied from a 24V AC supply

The circuit is to be wired using 1mm2 TPS cables using either:

· 1mm2 twin and earth

· 1mm2 TPE twin

The circuit cabling is to be installed so that:

· lighting points 1 and 2 and their associated switches are installed using the ‘loop at the light’ method of wiring

· lighting point 3 and its associated switch are installed using the ‘loop at the switch’ method of wiring.

· Each lighting point must be earthed in accordance with AS3000

On your answer sheet first draw a wiring diagram of the circuit – 10 marks

Install & connect the circuit – 25 marks

Test the circuit & apply correct isolation procedures –10 marks
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